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For each question, construct a-normal distribution curve and label the horizantal axis. Then answer each
question,

@The mean life of a tire ig 30,000 km, The standard deviation is 2000 k.
a) Whot percent Solls within one stondord deviakioa of the neoons ?
b) Lo ?efc.evdr Folls pebween 1o,0v0 omd 20, 500 Kua ™
&) Whet ?e«-ce»t:\ Lol betroeew 34y ovo Kne and 2700 v ®

9 Lot Rercesdr Ve %vc,uﬁrcaum o 25 oV K .

(2] The shelf life of a particulap dairy product is nortally distributed with a mean of 12 days and a standard
deviation of 3 days,

a) About what percent of the products last between 9 and 16 days?

b) About what percent of the products last befween 12 and 15 days?

¢) About what percent of the products last 6 days or less?

d) About what percent of the products last 15 or more days?

@ A line up far tickets 1o a local concert had an avérage (mean) waiting time of 20 minutes with a standard
deviation of 4 minutes, '
6) What percentage of the people in ling waited for more then 28 minutes?
b) If 2000 ticket buyers were in line, how mahy of them would expect to wait for less than 16 minutes?

El'] The monthly income of 5,000 workers at the Microseft plant are distributed normally. Suppose the mean
monthly income is $1,250 and the standard deviation is $260.
a} How many workers earn more than $1500 per month?
b) How many workers earn less than $750 per month? >
¢} What percentage of the workers earn betweern® 12625 a~D /30,670 “
d} What percentage of the werkers earn less than ¥ 1Z,125 <

@In an-Oreo factory, the mean mass of a caokie is glven as 40 g. For quality control, the standard deviation
g2 q.
a) 1f 10,000 cookies ware produced, how many cookies are within 2 g of the mean?
b) Conkied are rejected if they weigh more than 44 g or less than 36 g. How many coakies would you
expect to be rejected ina sample of 10,000 cookies?

A grading scale is set up for 1000 students' test scores. Tt is assumed that the scores are normally
distributed with a mean score of 76 and a stendard deviation of [2

DWhn+t pevcent scoren between Hb avd g25
b) How rmny studentt scored between T0 AnND A4S
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